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Jododobodoooodoooobooooong 1) How
long is an AppleTalk address (in bits) (AppleTalkd O 0O O O O O
1) A. 16 bits B. 32 bits C. 24 bits D. 8 bits 2) What are the two
parts of an AppleTalk address (AppleTalkO O OO OO0 0 0O)
[ A. Network and node B. Source and destination C. Logical and
physical D. Standard and extended 3) Which of the following is
standard on almost all Macintosh computers (L U O U 0O O 0O [
OO000O0OMacintoshOO OO OO)O A, EtherTalk B. Tok
en Talk C. FDDITalk D. LocalTal k 4) How many bits of an
AppleTalk address are reserved for the node number (AppleTal k[
OO0O0O0O00OoOad)d A.8bitsB. 16 bits C. 24 bits D. 32 bits
5) Network resources used by a particular group or department are
grouped intowhat AppleTalkstructure (U O 0O 0O OO0 O O
JododododoAppleTalkd 0O)O A.Workgroup B.
Zone C. Cable Range D. Virtual LAN 6) What is the name of the
AppleTalk layer-3 protocol (AppleTalkOD O O OO OO OO O
1) A. Datagram Post Office Protocol B. Datagram Delivery
Protocol C. AppleTalk Transport Protocol D. Zone Information
Protocol 7) Which statementistrue (U U O O O O 0O O 0O)O A.
Two ZIPs can be assigned to an interface B. Two cable ranges can be
assigned to an interface C. Two AppleTalk RTMPs can be assigned



to an interface D. Two zone names can be assigned to an interface
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